EARAZROREIERT — 2 N—XBISY —F 201755878 (H) 1EIEEMSH

m C2A# 5% (w8 | mEmml - |5 5 o s
[AE4£] 17 :200,000 ™ ~ 237%&:40,000”  337%&:20,000H” . 43&:14,000H 53 :6,000
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
S o5 g el F A :30. - . — FEER (KR
1B 6| *7HRxTIL "5 56.0 1(3_0)5 i 0 s f; E 7N 7
R:TH—T4F4F—XHY> B:OXEAIN-2 INTy—L
= = oo [EESES :31. = . — 12 ARBE (KR
21111 FLTEv A # 5 i 1(341)2 77 40.2 2 (4_435) Lo
L:F1—=TAHA B:ew1 b N)=TLT ESliEe
= . B4 | BAKt 1:31.4 1-1 Mnel — 5 467 | #EEZ (M)
sl 4| FTFaoNT—<> ~52.0 (11/2) 2) | @) TR
Rit1> h7Ly X B:3U37 DAY ¢
_ N LI AER & : — — EEE— (KR
Bs|75 w0 Rl I G L Bl I Pl - -
R:772UILT7 B:7I737%9 717 — TI3XTT— L
- N 4 o4 | BERE 1:31.5 6-2 f“n.0| — 6 422 | BREEBAE (B%FE)
5077 TbhT71477> 56.0 (%€ (o) |NHE
L7 R4 ¥aAT—-> BTNy ITLI—IL #X&t RUMI Z77—4
KIFIE :31. — . — &R (BEME)
6/8/8| 7TIT7ITL ®OED e | | T
RTIRATFS I B:54L51b i HR
- N . =i E : = - 1&iEthEl (KR)
7 2 ZJvyFx—d—JLK % 6 54.0 1(,?;_? &8 407 8 ?_528) NEE= 7
R:w>Ny&>h7x B:7x7V—-714—-> T
- 2 ) ft 5 | BRMEE 1:32.4 2-4 4.4 — 4 450 | FREEFD (KGR)
8l5l5|¥v=>7FO—7 54.0 ® o |IHAETF
L:vV3=>tw571L BVRZCTFT- Edrakse ]
® I —F—@EBIERL
13—7—
23— —
G§a=7r= 4,5,3,6,8,7,1,2
43—+ — 4,(3,7),5,6,8,1,2
[ RN
B OB 6 620M 714K 1-6 350M B E 1-6 1,120 &R 1-4-6 8,960
7 B 6 170H 4-6 1,180 | | & B 6-1 2,580M | | 3:EE 6-1-4 44,380
1 130M4 1-4 1,710
4 170

ABICOVWTRDTEEERROODE. TR LIV,



